ITEL B EME

EEAINNOVER T, TR 8 eh 98 & B4k dh 4, 4o f7 7L 477
R 3% AT :t.é’]ﬁlﬁ;l—_#& BAX = (rcosf,rsinf), REV = L% 3 H

V = (fcos 0, 7sinf) + (—rsin(h)8, r cos(9)0) = V, + V,

EyV&kEaeRE VAELRL ﬁé@iﬁify‘i, Vit RN T, Vot Ko A rf
ABETERTX VAT CORNEr-(rf) =rd=L=%¥%, %
AR E@EA=9 CHa KRG (RE), KhEPRRL. 3tE
dVv. dV dt 1 r? r?
a0~ aa g
B st 90y 75 45 © R B j]"_ﬂ_ji'J‘Z‘:.
/\d‘af (acos, asm0) X FH#. BRV = (asinb, —acosH) (b, c); b, c&

FH. V8K =V - (cosb,sinf) =bcosd + csinf = & P 2ir?

Ldr 1 0 _ 0 .
g 2 —(bcos O + csinf) = T20.(bcos€+csm9)= Z(bcosﬁ—i—csm&)

FIT LA - d (kcos@—#lsm@)‘jg Ck LR E B JREP

L (heost+15in0) Y = VT P sin(0 + a) 22
dt = COS Sin dt = Sin [0 dt

A¥Zxa=0, f’ffa% = hcos® +m, h,m& % ¥

1 = hx +my/x? + 32

B
1—hx =m\2?+y?
Mg, (z,y) = Xih REEG T2,
i EERI VM AEU(, ) A S, F2 Haty B b, 58 18 & B 4%
WA AR AT AR e RN R



